Exploded diagram and spare parts list (CR836) Rev.1.3

@

@

OO0 e ©

=)
9"'\

©&

®1

®

Q®

1|Page
@ Technical & Spares helpline 0845 111 0538
spares@uropa-service.co.uk




Exploded diagram and spare parts list (CR836) Rev.1.3
Machine Explode Code Description
CR836 - Buffalo Blender - 2.5Ltr Jug 1 Small Lid - AJ040
CR836 - Buffalo Blender - 2.5Ltr Jug 2 Big Lid - AJ041
CR836 - Buffalo Blender - 2.5Ltr Jug 3 Jug
CS052
CR836 - Buffalo Blender - 2.5Ltr Jug 4 Blade Set incl. Tool - AJ042
CR836 - Buffalo Blender - 2.5Ltr Jug 5 Seal Ring of The Fixed Plate
CR836 - Buffalo Blender - 2.5Ltr Jug 6 Fixed Plate
CR836 - Buffalo Blender - 2.5Ltr Jug 7 2 M4x6 Screw
CR836 - Buffalo Blender - 2.5Ltr Jug 8 AJ043 Coupling
CR836 - Buffalo Blender - 2.5Ltr Jug 9 AJ044 Mat of Jug
CR836 - Buffalo Blender - 2.5Ltr Jug 10 2 Cover Plate
CR836 - Buffalo Blender - 2.5Ltr Jug 11 2 Shock Absorption Mat
CR836 - Buffalo Blender - 2.5Ltr Jug 12 a2 Upper Housing
CR836 - Buffalo Blender - 2.5Ltr Jug 13 a2 Shore for Micro Switch
CR836 - Buffalo Blender - 2.5Ltr Jug 14 AJOAS Micro Switch
CR836 - Buffalo Blender - 2.5Ltr Jug 15 Inner Wire Terminal for Micro Switch
CR836 - Buffalo Blender - 2.5Ltr Jug 16 a2 Mounting Screw for Micro Switch
CR836 - Buffalo Blender - 2.5Ltr Jug 17 a2 Power Plug & Cord
CR836 - Buffalo Blender - 2.5Ltr Jug 18 a2 Power Cord Sheath
CR836 - Buffalo Blender - 2.5Ltr Jug 19 a Power Cord Clamp
CR836 - Buffalo Blender - 2.5Ltr Jug 20 AJ046 PCB
CR836 - Buffalo Blender - 2.5Ltr Jug 21 AJ047 Motor
CR836 - Buffalo Blender - 2.5Ltr Jug 22 a Motor Inner Housing
CR836 - Buffalo Blender - 2.5Ltr Jug 23 a Bottom Housing
CR836 - Buffalo Blender - 2.5Ltr Jug 24 a2 Bottom Plate
CR836 - Buffalo Blender - 2.5Ltr Jug 25 a2 Internal Wire Terminal for Power Switch
CR836 - Buffalo Blender - 2.5Ltr Jug 26 AJ048 Power Switch
CR836 - Buffalo Blender - 2.5Ltr Jug 27 a2 Internal Wire Terminal for Pulse Switch
CR836 - Buffalo Blender - 2.5Ltr Jug 28 AJO49 Pulse Switch
CR836 - Buffalo Blender - 2.5Ltr Jug 29 a2 Control Panel Cover
CR836 - Buffalo Blender - 2.5Ltr Jug 30 AJO50 Speed Knob
CR836 - Buffalo Blender - 2.5Ltr Jug 31 2 M7 Nut
CR836 - Buffalo Blender - 2.5Ltr Jug 32 AJO51 Speed Regulator
CR836 - Buffalo Blender - 2.5Ltr Jug 33 a2 Anti-Shock Dampers
CR836 - Buffalo Blender - 2.5Ltr Jug 34 a M4x25 Mounting Screws
CR836 - Buffalo Blender - 2.5Ltr Jug 35 a2 Shock Absorption Cotton
CR836 - Buffalo Blender - 2.5Ltr Jug 36 a2 Sound Absorption Cotton
CR836 - Buffalo Blender - 2.5Ltr Jug 37 a2 M3.5x20 Fixing Screw
CR836 - Buffalo Blender - 2.5Ltr Jug 38 a2 Muddler
CR836 - Buffalo Blender - 2.5Ltr Jug 39
CR836 - Buffalo Blender - 2.5Ltr Jug 40 .
CR836 - Buffalo Blender - 2.5Ltr Jug Al AJ097 Sound Enclosure Assembly - optional
CR836 - Buffalo Blender - 2.5Ltr Jug 42
CR836 - Buffalo Blender - 2.5Ltr Jug 43 AJ157 Power Supply Board
CR836 - Buffalo Blender - 2.5Ltr Jug 44 a2 M3x7 Fixing Screw

@ Technical & Spares helpline 0845 111 0538

spares@uropa-service.co.uk

2|Page




